Intermediate Lession 10: Defence to Pre-emptive Openers

NZBridge

Board 1 483 East cannot bid 2 NT Board 5 Q873
North Deals ¥ KQJ976 despite having 5/5 in the North Deals ¥ AJ76 The vulnerability is right
None Vul ¢ 102 minors as that bid shows N-S Vul ¢J943 for Westto jumpto 5 #
«# Q94 16-18 balanced. &7 following their partner’s
a AQ72 N & K4 4 J6 N a2 pre-empt. Playing
v A84 w eIM 5 Therefore, East calls their v K1085 w EIN 43 Teams, North should
¢ 954 S ¢ KQJ63 higher ranked suit. West ¢ K52 S ¢+ 876 double 5 # and collect
& A63 & K8752 will bid 3 NT to play. & A854 # KQJ10632 + 500, down three.
4 J10965 & AK10954
v 1032 This contract will make as vQ92 Playing Pairs, the
¢ A87 long as declarer ducks the ¢+ AQ10 decision is harder for
& J10 first 2 rounds of hearts &9 North. This time,
West North East South before knocking out ¢ A. West North East South they are rewarded for
2v 3¢ Pass Pass 3 3e bidding 5 .
3NT All pass 5& 54 All pass
Board 2 4 9653 North’s 3 ¥ is natural and | Board 6 4 6 North's 4 NT is take-out
EastDeals v AJ84 shows 7-10 HCP. With East Deals v AKJ104 with a strong two or three
N-S Vul ¢+ QJ6 fewer points they would E-W Vul ¢ K5 suited hand. South initially
& 104 bid 2 NT (Lebensohl). &#KQ985 chooses between the
& J2 N « KQ10874 4 AQJ109832 N & K4 minor suits though will be
v 1062 w clM 95 South, therefore, can raise | v 83 w clM 72 happy when North’s
¢ K85 S ¢ 32 to game knowing their ¢ J4 S ¢ A983 second bid shows hearts
& AK972 #J85 partner has values. There | & 10 # J6432 and clubs.
& A should be 10 tricks after 75
vyKQ73 any lead, 5 trumps, 4 vy Q965 Had South held 4 clubs
¢ A10974 diamonds and ¢ A. ¢+ Q10762 (even with 5 diamonds),
Q63 & A7 they should bid 5 # not
West North East South West North East South 54 as they know North
24 Dbl Pass Pass has one minor suit but
Pass 3v Pass 4v 44 ANT Pass 5¢ may not have both. 5 v
All pass Pass 5v All pass should make comfortably.
Board 3 » 87 After East’s take-out Board 7  AK985
South Deals v 64 double of the 3 ¢ pre- South Deals ¥ 106 North bids 3 ¥ to show an
E-W Vul ¢+ KQJ8763 empt, West is strong Both Vul ¢ 4 opening hand with at least
& K4 enough to bid to game. #AQJ65 5 spades and a 5+ card
& K1095 N o AJ63 It is possible, however, 4 1062 N 4« QJ73 minor.
vyAQ93 W E vy K75 that East does nothave 4 |v AK7532 W E vQ4
¢ 1052 S ¢+ 9 cards in each major. ¢+ Q98 S ¢+ AJ65 South has no game
&J5 «#AQ1093 Therefore, by bidding 4 ¢, | & 2 743 ambitions and wants to play
Q42 East can choose which a4 in their partner’s minor suit
v J1082 major should be trumps. vJ98 at the 4 level. Hence, 4 &
¢ A4 East chooses spades and ¢ K10732 asks North to pass or bid
#8762 the 4/4 fit is found. #K1098 4+ . South should be able
West North East South West North East South to make 10 tricks in clubs.
Pass Were West to guess on Pass
Pass 3¢ Dbl Pass the trump suit, they may | 2v 3v Pass 4%
4¢ Pass 4e All pass have chosen hearts, with | All pass
4 v being a more difficult
contract to make.
Board 4 52 After the 4 v opening, |Board 8 4 K3
WestDeals v A94 South makes a take- WestDeals v 64 With two five card majors,
Both Vul ¢+J874 out double. North has | None Vul ¢+ AQ109763 and a strong hand, East
#3632 no desire to bid either * 42 should bid the opener’s suit
48764 N 4 QJ3 of their suits at the 5 4 J76 N & AQ1054 atthe 4 level
v 2 w clM KQJ108763 level. North, therefore, | v 5 w el AKQ98
¢ A1093 S ¢ 2 passes, converting the | ¢ K85 S ¢ 2 Were East to double, West
& K1097 &4 take-out double to a &#0Q108653 & K9 would bid 4 # even 5 &,
 AK109 penalty double. 4982 East's 4 ¢ bid asks West to
v5 vJ1l0732 choose a major at the game
¢+ KQ65 The defence should ¢+ J4 level.
&#AQ85 score +500 for beating & AJ7
West North East South this contract by 2 West North East South
Pass Pass 4v Dbl tricks, an excellent Pass 3¢ 44 Pass
All pass result as North-South | 4 & All pass

cannot make any
game.
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